
Séquence de Nombres Linéaires (G)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 290 240 190 40 -10 -60Différence commune:2. 181 106 31 -269Différence commune:3. 1 21 41 51 61 71 81Différence commune:4. 118 -257 -332Différence commune:5. -46 54 154 454 554 654Différence commune:6. 272 122 47 -253 -328 -403Différence commune:7. 7 12 22 27 32 37Différence commune:8. 622 422 322 22Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (G) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 290 240 190 140 90 40 -10 -60 -110 -160Différence commune: -502. 331 256 181 106 31 -44 -119 -194 -269 -344Différence commune: -753. 1 11 21 31 41 51 61 71 81 91Différence commune: 104. 268 193 118 43 -32 -107 -182 -257 -332 -407Différence commune: -755. -46 54 154 254 354 454 554 654 754 854Différence commune: 1006. 272 197 122 47 -28 -103 -178 -253 -328 -403Différence commune: -757. 7 12 17 22 27 32 37 42 47 52Différence commune: 58. 822 722 622 522 422 322 222 122 22 -78Différence commune: -100Mathslibres.com


